1/6

20194204 H09 H

T %= 4

AR R

TTA A

SRR SRS N/AR S < 4

NI TR

FeEh (FRUELAR)

il T ASER N AL AR A T

e

F 1K Ver 1.0.0.0

TR LY (20184E FE LLKE)

FrHTHE PR (i T
FHRE Tk ERE TR HE M FEYEE R CEE
[EREI 54 16,156,713
FHECE U R 20184
BAKHIFRMRE 23,059,327 H
HE4 | &% (M) B A
BT HE 16,156,713
e Shillitie: 1,427,908 1H EIE ke
Bl e s 601,074 1M BT
GlE: ST 826,834
T 17,584,621 1H BT
B 4,262,023 1H Pk ke
B S Ry 4,262,023 1H EIENe
FE LB 0
AR 0
TR 21,846,644 1M gIET
— R L 3,073,356
— A R SRSy 3,069,453
< THEF> 24,916,097 1M g
PEBERL, € DAt 0
TR ALY 8,738
EER bt ¢ 0
gk -4,835
T fffiks 24,920,000 | A NS
THE L 1,993,600 |  8.0%
HATHE 26,913,600

TIAA NHEHETHE REKRGEEAARR) S Ver 1.0.0.0



T4 AATTAE N A E T 2/6

20194F04 A 09 H
TR FATHE | ThRTE | 1T R ST
foit T - SETH 5.2 Eﬁfi%a&%%éﬁﬁ
BR AR LF - S TH 5.2 # GEHE)
BEMER i L Tt S TH 5.2 ?% \(ﬁ%)
F R T
O THAREH
- T Tt THIR% | THWIAK
LFIE o iLH LR el el el
ST 5.2 - - - - - 5.2
ARG L 5.2 - - - - - 5.2
et fi Lo 5.2 - - - - - 5.0
FBERESR N L5
e LT BR AR LH PR (i L SRR L
O EAW | BEELEEM) | FEG% | BEELFEHRE) | HE% | EELERCE) | HE% | EELEE)
— % T EGE) 0.00 0 0.00 0 0.00 0
— % T ) 83.00 1,589,024 | 100.00 2,601,044 | 100.00 11,561,156
BE TRCHE) 0.00 0 0.00 0 0.00 0
BE TRCE) 0.00 0 0.00 0 0.00 0
FOfh T8 17.00 325,369 0.00 0 0.00 0
& #t 100.00 1,914,393 | 100.00 2,601,044 | 100.00 11,561,156
» feit T BRI L | R L | FFiaRkE L
WAL S ) S() &)
AR G ED) 0 0 0
AR e () 826,834 0 0
B CTE) 0 0 0
B e () 0 0 0
i . D& IR
M E S il FEEHE 0
FEAEM IS 80,120
SAEMA FTAT A 0 O— g P
(3% Fras ) — 2} 0 ATA S K HEE  35%& B2 40%LL F (liIEL7e\Y)
FEBERL., £ DA 0 TR E & BRAOTRAE] DS 0 52(0.04%)

e 0H

TIAA RIEETHF REMEEELRR) 1R Ver 1.0.0.0




TE4:

il T ARER N AL AR S T 3/6

2019404 H09 H

petail

il
PR
it

ke o s
XA
FREK

li&
20184E DL
Wi T +0.95+ BUGAE BRE0.95+— R i PR %0.75

HOEFETE BREFICLDD

HOELL 1M
b FHE T
IR ARK I FRAH 23,059,327 B AL FRALFE X _EFREAE FIREEOFFHIZHVET,
(P EMFEZXT T 2E|E: 92.53%)
EFRiE 100.00% 24,920,000
TRRAE  70.00% 17,444,000
A1 i CEE*0.95 = 17,584,621*0.95 = 16,705,389.95
X2 B HFE*0.95 = 4,262,023%0.95 = 4,048,921.85
§3: — AR B EE%0.75 = 3,073,356%0.75 = 2,305,017.00
4: -

AR PRAE RS = 1 + 2 + 33 + 4

= 16,705,389 + 4,048,921 + 2,305,017 + 0

= 23,059,327 - 0
= 23,059,327
f!é HHA SR (M) D BT HD
| EETER 16,156,713
EIER TS 1,427,908 11 YIEC
eSS & 601,074 1M TIHET
i P w2 826,834
T H 17,584,621 1M Bl
B E AR 4,262,023 1M Bl
B PR Ry 4,262,023 1M Bl
T B B 0
SChaHE 0
T 21,846,644 1H SIEae
— R PR 3,073,356
— R PR Ry 3,069,453
< THFHH> 24,916,097 1H Sk ae
FEBERL, Z DA 0
TR RFEE 8,738
EExfit/Pnesitd 0
SR -4,835
T Aflis 24,920,000 JiH Ik Cae
NEE- &l 1,993,600 8.0%
HATHEYE 26,913,600
TIAR ANHEETHE BEWR EEEE)  FH1MR Ver 1.0.0.0



THEA4: AUBET AN AR SR E T 5 4/6
20194204 3 09 H
Wi RNRE (FERECHE)
T H H HE (M) R | EREE | fHEL fHIE2 ARt (M)

— T () 0 4.05 0.00]  1.00]  1.00 0
— T (1) 1,589,024 6.07 0.00]  1.00]  1.00 96,453
" B T () 0 4.05 0.00] 090  1.00 0
g |, | BRIEEE) 0 6.07 0.00] 090  1.00 0
T | "% | zomrH 325,369 1.00 0.00] 1.00]  1.00 3,253
* T LIRS (— M T GOrE) | 8kF L9 0
T B Sm e (— i T (2 fE)) 826,834
it 1,914,393 926,540
— T () 0 5.53 0.00]  1.00]  1.00 0
T () 2,601,044 4.43 0.00]  1.00]  1.00 115,226
i | LR T8 () 0 5.53 0.00] 090  1.00 0
i EE S T (f) 0 4.43 0.00] 090  1.00 0
%)% | °% [Zowrs 0 1.00 0.00| 1.00|  1.00 0
£ % 5 L 0F Sm I (A T (BT . g ) 0
R Hm R (— i L () 0
it 2,601,044 115,226
- T () 0 4.63 0.00]  1.00]  1.00 0
T () 11,561,156 3.34 0.00]  1.00]  1.00 386,142
%% B T () 0 4.63 0.00] 090  1.00 0
e BB T (KlE) 0 3.34 0.00] 090  1.00 0
5 | 52 [Zomrs 0 1.00 0.00/ 1.00|  1.00 0
q;g T LIRS (— M T GOrE) | 8kF L9 0
T B Sm e (— i T (2 fE)) 0
it 11,561,156 386,142

FAM AT 80,120

. U— 2 0

i I FEBERL, 2Ot 0
it 16,156,713 1,427,908

TIAA NIRRT H

AT EEAERR) SRR Ver 1.0.0.0



LTHE4: A

NP S K T T

5/6

20194204 3 09 H
W RNIRE (IEEERETHE)
T H H HE (M) R | EREE | fHEL fHIE2 ARt (M)
— T () 0 17.39 0.00]  1.00]  1.00 0
— T (1) 2,512,311 26.86 0.00]  1.00]  1.00 674,806
" B T () 0 17.39 0.00]  1.00]  1.00 0
5| o, | S @) 0 26.86 0.00]  1.00]  1.00 0
T | "% | zomrH 328,622 2.00 0.00] 1.00]  1.00 6,572
* LT BIGE R (— R TF ) | 805 TF) 0
T BB E A (—ik T (fE)) 0
it 2,840,933 681,378
— T () 0 31.13 0.00]  1.00]  1.00 0
e T () 2,716,270 43.15 0.00]  1.00]  1.00 1,172,070
5 B LR T8 () 0 31.13 0.00] 1.00]  1.00 0
5 EE s g | BHLE@EE) 0 43.15 0.00] 1.00]  1.00 0
m | | 7 | zomTE 0 2.00 0.00|  1.00|  1.00 0
£ % L L R (T (BT . B ) 0
B RTBGE R (i L () 0
it 2,716,270 1,172,070
- T () 0 16.92 0.00]  1.00]  1.00 0
e T () 11,947,298 20.16 0.00]  1.00]  1.00 2,408,575
%% B T () 0 16.92 0.00]  1.00]  1.00 0
e BB T (KlE) 0 20.16 0.00]  1.00]  1.00 0
5 | 52 [Zomrs 0 2.00 0.00/ 1.00|  1.00 0
q;g LT BIGE S (— R TFGIE) | 805 TF) 0
T BB E A (—k T E () 0
it 11,947,298 2,408,575
FAM AT 80,120
SARRE - 0
i IE Y— A
PEBERL, £ DA
it 17,584,621 4,262,023

TIAR ANHRETHE REMR SRR H1R Ver 1.0.0.0



THEA4: AUBET AN AR SR E T 5 6/6
20194£04 51 09 A
W RNIRE (IEEERETHE)
T H H &HE (M) TRt WEE | AHIEL #HIE2 ARt (M)
— % T Cores) 0
s T () 3,187,117
P BT i) 0
T | gempTHe 0
* ZoMmTH 335,194
/e
— % T Cores) 0
! — i T () 3,888,340
X\
% P T (BT ) 0
| e 0
" % A 0
w N
Wl T G ) 0
fﬁj T () 14,355,873
s SR T (BT 0
| e 0
% A 0
AN
R AR B 80,120
. AR 0
fii 1= U— 2 0
Lo 0
3t 21,846,644 14.05 | 0.00/ 1.00] 100 3,069,453
CLHEEF 24,916,097
FEFERL. £ Dfth 0 0
CLHFRED R 21,846,644 0.01] 000 100|100 8,738
BlwE b AT EE 0
T H {5 I S A -4,835
- R 3,073,356
Tk 24,920,000

TIAR ANHRETHE REMR SRR H1R Ver 1.0.0.0




